B APNaLS_4eALA

UEILA40_LZA4E Y

[

0.5

alphal3_4eX1X:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

deltad46_12X4eY:cyclenum {run == 6616}

[
o

0.5

6630 6630.5 6631 6631.5 6632
cyclenum

alpha46_4eY4aY:cyclenum {run == 6616}

alpha46_4eY4aY
w
)

o
)

34
3.2

2.8F
26F
2.4F

22

6630 6630.5 6631 6631.5 6632

cyclenum

run:cyclenum {run == 6616}

6618

3617.5

6617

3616.5

6616

3615.5

6615

3614.5

6614 6630 6630.5 6631 6631.5 6632

cyclenum

deltal3_lzx4ex

segment

o
2

25

15

05

deltal3_12X4eX:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

segment:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6616}

P -
e e e eeeeamaenaaaaan .-

6630 6630.5 6631 6631.5 6632
cyclenum

usl_4eY:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

usl_12X:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

usl_sex

6618

3617.5

6617

3616.5

6616

5615.5

6615

3614.5

6614

usl_4eX:cyclenum {run == 6616}

[

6630 6630.5 6631 6631.5 6632
cyclenum

run:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum



USI_L1A

usI_aey

0.5

=

usr_1X:cyclenum {run == 6616}

P -
e e e eeeeamaenaaaaan .-

6630 6630.5 6631 6631.5 6632
cyclenum

usr_4eY:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

usr_12X:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

usr_aex

6618

3617.5

6617

3616.5

6616

5615.5

6615

3614.5

6614

usr_4eX:cyclenum {run == 6616}

[

6630 6630.5 6631 6631.5 6632
cyclenum

run:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum



0599.5

40599

0598.5

40598

0597.5

-695.5

—696

-696.5

-697

-697.5

usl_coill:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

usl_coil6:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

3244.4

3244.2

8244 F

3243.8

3243.6

3243.4

3243.2

8243

3242.8

3242.6

3242.4F

3242.2

[

usl_coll/

0.5

usl_coil3:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

usl_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

3970.2

3970

3969.8

3969.6

3969.4

3969.2

3969

3968.8

3968.6

3968.4

3968.2

3968

6618

3617.5

6617

3616.5

6616

5615.5

6615

3614.5

6614

usl_coil4:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

run:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum




6854.5

26855

6855.5

26856

6856.5

-797.2

-797.4F
-797.6 F
-797.8F

-798F
-798.2F

-798.4F

-798.6

-798.8

-799F

-799.2F

-799.4

usr_coill:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

usr_coil6:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

-5566

5566.5

—5567

5567.5

-5568

[

usr_coll/

0.5

usr_coil3:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

usr_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

5085.5

6085

5084.5

6084

5083.5

6618

3617.5

6617

3616.5

6616

5615.5

6615

3614.5

6614

usr_coil4:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

run:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum




-423.5

-424

-424.5

-425

-425.5

-461.5

-462

-462.5

-463

-463.5

1X_coill:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

4eX_coill:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

-69.5

=70

-70.5

=71

-715

-89.2

-89.4

-89.6

1X_coil3:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

4eX_coil3:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

1X_coll/

4eXx_coll/

[

05

1

1X_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

4eX_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum




182.5

182

180.5

1924
192.2F

192F
191.8F

1916 F

191.4
191.2

191

1908
1906 F
190.4F

190.2 F

4aY_coild:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

4eY_coil4d:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

I
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»
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1422

4d v
N
N

41.8

41.6

41.4

41.2

41

40.8

40.6

40.4

40.2

-18.5

-19

-19.5

-20.5

4aY_coil6:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632

cyclenum

4eY_coil6:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

4ay_coll/
=

05

4eY_coll/
=

05

4aY_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

4eY_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum




-246.5

—247

-247.5

—248

-248.5

1115

1en_Lunu

11

10.5

10

9.5

12X_coill:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

12X_coil6:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

-83.5

-84

-84.5

[

12X_coi/

0.5

12X_coil3:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

12X_coil7:cyclenum {run == 6616}

6630 6630.5 6631 6631.5 6632
cyclenum

|
»
=

12X_col4

I
a

-5.6
-5.8

-6

6618

3617.5

6617

3616.5

6616

5615.5

6615

3614.5

6614

1-4.8F

12X_coil4:cyclenum {run == 6616}

el by e b v by 1y
6630 6630.5 6631 6631.5 6632
cyclenum

run:cyclenum {run == 6616}

6631.5 6632
cyclenum

6630 6630.5 6631
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